FAMCO
Cunio il

Hydraulic piston pumps

Model 1: *CY14-1B (F) Series Pumps
Ordering Code:

Clockwise
a0 | Y L Y 14 1B F F: Anticlockwise

T 1 Stwcture Design Number

=8 The Second Improved  Design
Type: Cylinder Rotating Axial Fiston Pump

¥ Pump
M. Molor

[ M- Fixed Displacement

& Nominal Pressure: 531 5Mps [ Y Pressure Compensation Varable
G Noming! Pressure: 24.5Mea | B Battery Sokidion Proporstions! Comtrol
Variable

C Berve Varisble
| P Constant Pressure Variable

Nomingl Displecememnt{MLIR): 10,.25,40,63 80,160 250
| [Eleciric Drive Varisble
| MY Grade Pressue Compensation

Variable
Specification:
Type Nominal Nominal Theoretic Max Drive power | Max,
Pressure | Displacement | Flow(LPM) KW theoretic
(Mpa) (CClrev) 1000rpm Torque(N.m)
1000rpm | 1500rpm
25 MCY14-1B 315 2.5 25 3.75 1.43 17.5
10 MCY14-1B 315 10 10 15 5.7 54.6
SCY14-1B
YCY14-1B
PCY14-1B
MYCY14-1B
BCY14-1B
25 MCY14-1B 315 25 25 375 141 134.9
SCY14-1B
YCY14-1B
PCY14-1B
MYCY14-1B
BCY14-1B
40 MCY14-1B 31.5 40 40 60 22.6 201.5
.www.famcocorp.com D Tel:ebl-F A oooo F (oS ossas 05lp] S0 i g s
&' E-mall; Infopfamcacotp.dn \ Fax:e Pl —KFFI9ESEP WSy by i 0Bl UL (59595

(c) @famco_group



FAMCE

Ceuopuls

SCY14-1B

YCY14-1B
PCY14-1B

MYCY14-1B
BCY14-1B

63

MCY14-1B
SCY14-1B

YCY14-1B
PCY14-1B

MYCY14-1B
BCY14-1B

315

63

63

94.5

35.6

339.9

80

MCY14-1B
SCY14-1B

YCY14-1B
PCY14-1B

MYCY14-1B
BCY14-1B

31.5

80

80

120

46.6

405.1

160

MCY14-1B
SCY14-1B

YCY14-1B
PCY14-1B

MYCY14-1B
BCY14-1B

31.5

160

160

240

92.2

880.3

250

MCY14-1B
SCY14-1B

YCY14-1B
PCY14-1B

MYCY14-1B
BCY14-1B

31.5

250

250

375

133.2

1272.4

400

MCY14-1B
SCY14-1B

YCY14-1B
PCY14-1B

MYCY14-1B
BCY14-1B

315

400

400

199.5

1905.2

When the nominal pressure is 31.5MPa, the displacement with 1.25. 5, 13, 16. 32. 100ml/r also can offer.

E)www.famcocorp.com

) E-mail: info@famcocorp.com

@famco_group

() Telobl-F Aoooo 9

(Z) Fax:oll - FFI9FSEP

(235 Uagrato 6312) (5,500 0,5 ju Pl yioglS (g

WSy e uly s 08Ul (595-29)



FAMCO

MCY14-1B Series
Slanting disc type quota ram pump/Motor
STRUCTURE:
pump housing swash plate cover end
pump retaining pla
flange palt - \\ \\ |
e N
driving shaft /
L " - = /
Y
iE Gt s £S
'
4 N
||
framework oll seal i S
cylinder sllipper
inlet or outlet valve plate plunge
PRINCIPLE OF WORKING:
variable charateristic line hydraulic principle siulu
HCY
{4
P
() \ . P
G www.famcocorp.com @ TelotiF Aooos F (a5 omgrata 3151 5, oS Pl vl

:J E-mail: info@famcocorp.com @
- (E) Fax:oP1 - FF99F5EY
i @famco_group =

13 \SU# nL}llJ'_'f caaj blSw"_UEn \59—=9)



FAMCO

The main body are partial (sees also structure to split) revolves by the drive shaft impetus cylinder body, causes the uniform
distribution to circle the drive shaft middle line rotation on the cylinder body seven plungers, presses through the central
spring column slippery module in slippery boots in variable (or slanting plate) on. Thus, the plunger revolves along with
the cylinder body but makes the reciprocal motion, completes blots and presses the oil movement.

In the quota organization the slanting plate fixes throughout on the quota end cover, cannot change the plunger the trave
schedule, therefore its current capacity is fixed. Should pump only must replace matches the oil disk also to be possibl
take the oil motor use.

POWER COMPUTATION:

N=QP/ (60n) (Kw) Actual use electrical machinery power

Q——-=Current capacity L/min (Actual use current capacity)

P——Pressure MPa (Actual working pressure)

n——~Overall effectiveness index 0.85

the user may select the electrical machinery according to the actual use load after the upper row formula
computation.

DIMENSION SIZE:

_ = \
I ;
B
H L
1
J
O inlet Flange connection
160. Z50CTI4-18
#'o
Git Gutet e _|
Dimension 2.5MCY 10(16)MCY [ 25(40)MCY | 63(80)MCY |160MCY| 250(400)MCY
[Type
A 79 x 84 ¢ 125 ¢ 150 ¢ 190 ¢ 240 ¢ 280
B(f9) ¢ 52 @75 ¢ 100 ¢ 120 ¢ 150 ¢ 180
C 15.8 27.5 325 42.8 59 63.9
E)www.famcocorp.com e
L0 Tel:ebl-F Aoooo 9 (225 Usgeai 6312) (5,50 01y, ¥ yioglsS . o)igs
) E-mail: info@famcocorp.com . _
' (E) Fax:oP) - FFA9FESEP ¥ S ¢ Ly cds o Buiull (59529

[5) @famco_group



FAMCE

D(h6) ¢ 14 ¢ 25 ¢ 30 ¢ 40 ¢ 55 ¢ 60
E 3 4 4 4 4 5
F 20 30 45 50 100 100
G 25 40 52 60 106 110
H 26 41 54 62 110 112
62 86 104 122 180 212
J 77 109 134 157 230 272(277)
K 119 194 246 300 411 492(502)
L 44 71 83 108 141 170
M M10 x 1 M14x15 | M14x15 | M18x 1.5 [ M22 x M22 x 1.5
1.5
N M8 M10 M10 M12 M16 M20
P M16 M20
Q(h9) 5 8 8 12 16 18
R ¢ 80 ¢ 100 ¢ 125 ¢ 155 ¢ 198 ¢ 230
S 84 142 172 200 340 420
T M18 x 1.5 M22 x 1.5 |M33(M42) x|M42(M48) x| ¢ 55 ¢ 64( ¢ 66)
2 2
U ¢ 64 ¢©76
AA ¢ 92 ¢ 150 ¢ 170 ¢ 225 ¢ 300 ¢ 360
BB 171 253 308 385 525 622(632)

Jwww.famcocorp.com " )
- Tel:ioFI-F A oooo F 9 (L:_JS woguao 63l2) (5,800 ol)S) 1 i'lJ.'a'nglgSnuw
) E-mail: info@famcocorp.com

J Fax:ePl - FE99KFKEP P SU oyl s oBuiull (59529)

) @famco_group



SCY14-1B Series

FAMC

Caniuoyiild

Structure:

pump housing

flange plate  pump
oY

driving shaft : g

retaining pEET
I

variable g

RN

pg

framework oil seal

E)www.famcocorp.com
() E-mail: info@famcocorp.com

(©) @famco_group

<

aftaite plunger

plunger

() Tel:eFl-E Aoocoo

() Fax:oPl - FEIqESEP

N AL
RN

lower flange

274

F 1 (255 Uograio 0312) 558 ol ju Pl yi0glS « ylygs

WS oy cas bLSAﬁAl:JuEJ 59)~9)



Drawing:
=T
H—:t*:L
L7
- W
1
J
Ot ilet s — Flange Connechion
'-—-:-— = 160, ZTOSCY14-1B
o ?: T P
B ey | _E___ S _@,jt {@ _E_ =
L‘Lf‘}—* = ] i
T N
Oil outet T —1
DIMENSION SIZE:
Dimension 10(16)SCY 25(40)SCY 63(80)SCY 160SCY 250(400)SCY
Type
A ¢ 125 ¢ 150 ¢ 190 ¢ 240 ¢ 280
B(f9) Q75 ¢ 100 ¢ 120 ¢ 150 ¢ 180
C 27.5 32.5 42.8 59 63.9
D(h6) ¢ 25 ¢ 30 ¢ 40 ¢ 55 ¢ 60
E 4 4 4 4 5
F 30 45 50 100 100
G 40 52 60 106 110
H 41 54 62 110 112
| 86 104 122 180 212
J 109 134 157 230 272(277)
K 194 246 300 411 492(502)
L 71 83 108 141 170
M M14 x 1.5 M14 x 1.5 M18 x 1.5 M22 x 1.5 M22 x 1.5

Elwww.fam

cocorp.com

) E-mail: info@famcocorp.com

@famco_group

() Tel:oPl-F Aoooso 9

(©) Fax:e¥| - FraqEsEY

(235 Uagrato 6312) (5,50 0,5 ju Pl yinglS « yligs

1P SW gl s sBuiulL 5959)



FAMC

o

Caniso)iild

M10

M10

M12 M16 M20
Q(h9) 8 8 12 16 18
R © 100 9125 ¢ 155 © 198 ¢ 230
s 142 172 200 340 420
T M22 x 1.5 M33(M42) x 2 M42(M48) x 2 ¢ 55 @ 64( ¢ 66)
X 294 362 439 595 690(700)
Y 258 317 390 533 629(639)
z 50 66 74 100 100
EE 91 101 130 165 203
FF 231 266 305 393 470

“Jwww.famcocorp.com

) E-mail: info@famcocorp.com

) @famco_group

) Tel:oFl-F Aoooo 9

) Fax:wPl - FEI9FSEP

(215 Uograto 6312) (5)Suld 0,5 j ¥l JinglS « ylygs

1P S ¢yl cuis sBuiuUL (5929



YCY14-1B Series

FAMCO

spee

Slanting disc type pressure compensation variable ram pump/Motor

Structure:

seal head

jatn st
spring collets
upper flange
spring sI;j-.ndln-a
m.na’ spriné
outside spring

serwo slide walve

setvo plunger

dial

'lll "' A\

Wariable end  return plate

anchoring screw rod

purnp housing
g _ pump

g

o Na iﬂj} 4 -
Wariable plunger .'H
Ne—C— TP -
: ) = '-“_al = ; t \
variable housing o ..‘ A \ i 23, ‘transmission shaf
- J e, e
lowe flange Lﬁ/_:/él{’f_ ]| ]:" . % 7
; 1 e ! ! 5 % K fmmnewiTleni seal
— . ) \- oy
m | slipper | plunger | cylinder . indet or outlet
N oil chsmbunon casing
Drawing:
¥
et e
B
] nbi-:u:— — e - el _
L
H
J
K
T
X
O fet_._______F,_,_.—— Flang e conneciion
#iﬂ 1B0, TEOYCYLA-§ BANE = TR
_i! -+ -+
—_ - -— — = —_——— —— e ——— * ——— i
=] @ |
it 2

)www.famcocorp.com

é} E-mail: info@famcocorp.com

i @famco_group

(D Telworl-F Aoooo o (25 Uogiao 0312) 5,8kl oS3 P iaglsS « cihg?

©) Fax:op1 - FEIAESEP 1P S« eds o8u2uUL s9,29)



MYCY14-1B Series

The slanting disc type establishes grades the variable ram
pump/Motor

Structure:

seal head
adjusting gasket -ancharing screw rod
R f}qn_g_g_ wvariahle end return plate pump body  pump
_f'. £ = e = _z'_ |

adjusting spring

spring seat
dial sy TR 1
_____ = o o "
Variahle plunge e E b
i el R - % \transission shaft
Variahle housing - == \ ‘ \

f il I | \-\ =t Y

| | ! \ A \
| ‘ III lll II\ \'\ 4

lowe flange "'-_.framework oil seal

stipper | plunger | cylinder  dntet or outlet
ofl distrbution casing

G)www.famcocorp.com

| Tel:oPl-F Aoooo 9

) E-mail: info@famcocorp.com

) @famco_group

(C)

Fax:Pl - FERIESEP

FAMCO

Caniuopuls

spee

(225 Usgraio 6312) (5)Suil ol)S)ju Pl yioglS «jligy

1P S Uy by s o SuiuUl 59,9



FAMCO

Drawing and Dimension Size
Dimension 10(16)MYCY | 25(40)MYCY | 63(80)MYCY
/type
A ¢ 125 ¢ 150 ¢ 190
B(f9) ¢ 75 ¢ 100 ¢ 120
C 27.5 325 42.8
D(h6) ¢ 25 ¢ 30 ¢ 40
E 4 4 4
F 30 45 50
G 40 52 60
H 41 54 62
I 86 104 122
J 109 134 157
K 194 246 300
L 71 83 108
M M14 x 1.5 M14 x 1.5 M18 x 1.5
)www.famcocorp.com
©) E-mail: info@famcocorp.com ‘Uf febe A e (@ gl esiad g SO TS b
_ (C) Fax:ob) - FEI9EsEY 1P S b el ol8uiuUl 5959

(&) @famco_group



BCY14-1B Series

N M10 M10 M12
Q(h9) 8 8 12

R ¢ 100 ¢ 125 ¢ 155

S 142 172 200

T M22 x 1.5 | M33(M42) x 2 | M42(M48) x 2

X 294 362 439

Y 258 317 390

z 50 66 74

EE 127 153 188

FF 282 335 382

Structure :

shaft fange plate pump pump housing

\

2

retainer_pate

variable ram pump/Motor

FAMCO

ashasp ol

Slanting disc type battery solution proportional control

ull

Viriable

plunger [ / -
fram rk oil s cylind
|

w

S

-

EG)www.famcocorp.com

@* E-mail: info@famcocorp.com
(©) @famco_group

(D Telzori-

per

Flange

Dial

~ Wiriabl

FAoooo 19

©) Fax:oP1 - FEI9ESFP

(225 Usgraio 6312) (5,5l ol)S)ju Pl yiogliS ¢ jligi

P SW by as o8iuUL (59,29)



FAMCO

Caniuopals
Drawing and Dimension Size
=4
¥
PRIR E| = RN N SRS A, T W S——
H
1
J
E
T
X
Ot intet Flange conneckion
&J;U 160. 250BCTI4-1E % S
alo
ﬂg:ltm} T
Dimension| 10BCY 25(40)BCY 63(80)BCY 160BCY 250(400)BCY
Type
A ¢ 125 ¢ 150 ¢ 190 ¢ 240 ¢ 280
B(f9) Q75 ¢ 100 ¢ 120 ¢ 150 ¢ 180
C 27.5 325 42.8 59 63.9
D(h6) ¢ 25 ¢ 30 ¢ 40 ¢ 55 ¢ 60
E 4 4 4 4 5
F 30 45 50 100 100
G 40 52 60 106 110
H 41 54 62 110 112
86 104 122 180 212
J 109 134 157 230 272(277)
K 194 246 300 411 492(502)
E)www.famcocorp.com ~
- 0 Tel:ePl-F Aeooo F9q (255 Usgaaio 0312) (5)Saiul oS ju Pl fiogliS « ¢ylgs
) E-mail: info@famcocorp.com
() Fax:eP1 - FFAqESEY 1P SUy «ayly wis oSl 59,~9)

(&) @famco_group



FAMCO

Caeuoyuls

L 71 83 108 141 170

M M14 x 1.5 M14 x 1.5 M18 x 1.5 M22 x 1.5 M22 x 1.5

N M10 M10 M12 M16 M20

P M16 M20
Q(h9) 8 8 12 16 18

R ¢ 100 ¢ 125 ¢ 155 ¢ 198 ¢ 230

S 142 172 200 340 420

T M22 x 1.5 [ M33(M42) x 2 [ M42(M48) x 2 ¢ 55 @ 64( ¢ 66)

U ¢ 64 ¢©76

X 294 362 439 595 690(700)

Y 258 317 390 533 629(639)

z 50 66 74 100 100

H1 65 80 127 157 193

H2 96.5 112 126 159 193

EE 100 110 140 173 210

FF 300 318 358 415 485

Jwww.famcocorp.com

) E-mail: info@famcocorp.com

(&) @famco_group

(1) Tel:eb1-¥ Aoooo 9

(C) Fax:oPl - FFA9FSEY

(255 Uagiaro 0312) 550 015y Pl yioglS « gy

1P S ¢y cuad oBuluUL 59429y



FAMCO

PCY14-1B Series
Slanting disc type constant pressure variable ram pump
Structure:
| LS
pump pump housing variable e stant.yalve
flange plate \ retainin
shaft pring
e TR | T, dial
o qer
32 sing
Q_
framework oil seal valvelplate | pl ange
Drawing:
;.
1
=1 i
£T !
F b !
R | ] ol el s s o = o e j—-
I I ¢ @ i
1
|
i \.;r i
I i
K L
T ' |
= -
OXl inlet Filange Connechion
L J_-—-""’r'_-
BiC 160, ISPCYI4=IE.
Sl
4 20
wlo
Gitootet —— |
f .
E)www.famcocorp.com @Tehuﬂ_]‘,\oaoel‘q (255 Ungaio 0312) (5 S oS, Pl iogliS « ylygd
@ E-mail: info@famcocorp.com
©) Fax:op1 - FEIAESEP 1P SU ¢l s 080U 59,29)

@famco_group



Dimension Size:

Dimension|| 10PCY 25(40)PCY | 63(80)PCY 160PCY 250(400)PCY
Type

A ¢ 125 ¢ 150 ¢ 190 ¢ 240 ¢ 280
B(f9) @75 ¢ 100 ¢ 120 ¢ 150 ¢ 180

C 27.5 325 42.8 59 63.9
D(h6) ¢ 25 ¢ 30 ¢ 40 ¢ 55 ¢ 60

E 4 4 4 4 5

F 30 45 50 100 100

G 40 52 60 106 110

H 41 54 62 110 112

86 104 122 180 212

J 109 134 157 230 272(277)

K 194 246 300 411 492(502)

L 71 83 108 141 170

M M14x 15| M14x15 M18 x 1.5 M22 x 1.5 M22 x 1.5

N M10 M10 M12 M16 M20

P M16 M20
Q(h9) 8 8 12 16 18

R ¢ 100 ¢ 125 ¢ 155 ¢ 198 ¢ 230

S 142 172 200 340 420

T M22 x 1.5 |M33(M42) x 2| M42(M48) x 2 ¢ 55 ¢ 64( ¢ 66)

U ¢ 64 ¢©76

X 294 362 439 595 690(700)

Y 258 317 390 533 629(639)

z 50 66 74 100 100

C)www.famcocorp.com

() E-mail: info@famcocorp.com

@famco_group

Tel:ePI1-F A oooo F 9

) Fax:obl - FEA9ESEP

FAMC

o

Caniso)iild

(235 Usgraio 6312) (5,540 ol,S;ju Pl yioglS « 1yl

P SW by il oBuiull 5959,



